Proceedings of the Edinburgh Mathematical Society (2011): page 1 of 26 DOI:10.1017/S0013091510000635

# THE ONE-SIDED $A_p$ CONDITIONS AND LOCAL MAXIMAL OPERATOR

# ANA L. BERNARDIS<sup>1</sup>, AMIRAN GOGATISHVILI<sup>2</sup>, FRANCISCO JAVIER MARTÍN-REYES<sup>3</sup>, PEDRO ORTEGA SALVADOR<sup>3</sup> AND LUBOŠ PICK<sup>4</sup>

<sup>1</sup>Instituto de Matemática Aplicada del Litoral (CONICET), Facultad de Ingeniería Química (UNL), Güemes 3450, (3000) Santa Fe, Argentina (bernard@santafe-conicet.gov.ar)
<sup>2</sup>Mathematical Institute, Academy of Sciences of the Czech Republic, Žitná 25, 11567 Praha 1, Czech Republic (gogatish@math.cas.cz)
<sup>3</sup>Departamento de Análisis Matemático, Facultad de Ciencias, Universidad de Málaga, 29071 Málaga, Spain (martin\_reyes@uma.es; portega@uma.es)
<sup>4</sup>Department of Mathematical Analysis, Faculty of Mathematics and Physics, Charles University, Sokolovská 83, 18675 Praha 8, Czech Republic (pick@karlin.mff.cuni.cz)

(Received 4 May 2010)

Abstract We introduce the one-sided local maximal operator and study its connection to the one-sided  $A_p$  conditions. We get a new characterization of the boundedness of the one-sided maximal operator on a quasi-Banach function space. We obtain applications to weighted Lebesgue spaces and variable-exponent Lebesgue spaces.

Keywords: one-sided  $A_p$  conditions; one-sided local maximal operator; quasi-Banach function spaces; variable-exponent Lebesgue spaces

2010 Mathematics subject classification: Primary 42B25

#### 1. Introduction

For a function f on the real line  $\mathbb{R}$ , the maximal function Mf at x is defined by

$$Mf(x) := \sup_{a < x < b} \frac{1}{b-a} \int_{a}^{b} |f(t)| \, \mathrm{d}t.$$

In [8] Muckenhoupt characterized, for 1 , the weights <math>w on  $\mathbb{R}$  satisfying the weighted norm inequality

$$\int_{-\infty}^{\infty} Mf(x)^p w(x) \, \mathrm{d}x \leqslant C \int_{-\infty}^{\infty} |f(x)|^p w(x) \, \mathrm{d}x$$

© 2011 The Edinburgh Mathematical Society

with a positive constant C independent of f. This result left open the characterization of the corresponding weighted norm inequalities for the original maximal functions of Hardy and Littlewood, namely

$$M^{-}f(x) := \sup_{h>0} \frac{1}{h} \int_{x-h}^{x} |f(t)| \, \mathrm{d}t$$

and its counterpart

$$M^{+}f(x) := \sup_{h>0} \frac{1}{h} \int_{x}^{x+h} |f(t)| \, \mathrm{d}t$$

that were later called the *one-sided maximal operators*. This problem was solved later, in [13], by Sawyer, who also pointed out that such results are, for example, indispensable in applications to estimates of the ergodic maximal function, while, on the other hand, they are quite deep and often require the introduction of new techniques that are not analogous to their two-sided counterparts. An elementary proof of his main theorem was later given in [7].

In [6], Lerner and Pérez characterized boundedness of M on a general quasi-Banach function space (not necessarily rearrangement invariant) by several criteria. The necessary and sufficient conditions they established were expressed in terms of the norm of the so-called local maximal operator, and also in terms of a generalized upper Boyd index that they introduced for this purpose. Among the applications of this result they established a new characterization of the  $A_p$  class of weight functions, the new feature being a certain bump function inserted to the estimate that defines the condition  $A_{p,1}$ . They presented applications to weighted Lebesgue and Lorentz spaces and to variableexponent spaces. In particular, for the latter application they developed a new approach to the theorem of Nekvinda [10] on the boundedness of M on variable-exponent Lebesgue spaces.

Our main aim in this paper is to study one-sided versions of the problems considered in [6]. Analogously to [6, Theorem 1.2], we prove a new characterization of the boundedness of the one-sided maximal operator on a quasi-Banach function space by three other equivalent statements (Theorem 3.5). To this end, we first build up an appropriate theory including the introduction of the one-sided local maximal operator. We study this operator in detail and, interestingly, we show some of its key properties that do not have double-sided analogues. Next, we introduce a one-sided upper Boyd index. We then present applications to weighted Lebesgue spaces and to variable-exponent spaces. The latter application is of particular interest since it requires a very special sufficient condition for the boundedness of the one-sided maximal operator on variable-exponent spaces, which had not been known for a long time and which was only very recently obtained by Nekvinda [11]. Our techniques are based on a key one-sided lemma that relies on a certain local version of a reverse weak-type inequality for the one-sided maximal operator, which, again, reveals features that do not exist in the two-sided world. In our proofs we mostly use techniques and results that have been obtained only very recently, although their two-sided versions have been known for several decades.

### 2. The one-sided local maximal operator

The key role in our investigation is played by the one-sided local maximal operator. In this section we introduce this operator and study its basic properties. First, we need to recall the notion of the non-increasing rearrangement of a function.

For a measurable function f on  $\mathbb{R}$ , we define its *non-increasing rearrangement*,  $f^* \colon [0,\infty) \to [0,\infty)$ , by

$$f^*(t) = \sup\{s \ge 0 \colon |\{x \in \mathbb{R} \colon |f(x)| > s\}| > t\}, \quad t \in [0, \infty),$$

where, as usual, |E| denotes the Lebesgue measure of E.

In what follows we denote, as usual, by  $\chi_E$  the characteristic function of a measurable set  $E \subset \mathbb{R}$ .

**Definition 2.1.** Given  $\lambda \in (0, 1)$ , h > 0, a measurable function f on  $\mathbb{R}$  and  $x \in \mathbb{R}$ , we define the one-sided local maximal operator  $m_{\lambda}^+$  by

$$m_{\lambda}^+ f(x) = \sup_{h>0} (f\chi_{(x,x+h)})^* (\lambda h).$$

**Remark 2.2.** Let  $\lambda \in (0,1), \alpha, \beta > 0$  and let  $E \subset \mathbb{R}$  be measurable. Then, the following facts follow immediately from the definitions:

$$m_{\lambda}^{+}f(x) > \alpha \iff M^{+}\chi_{\{|f| > \alpha\}}(x) > \lambda;$$

$$(2.1)$$

$$m_{\lambda}^{+}(\chi_{E})(x) = \chi_{\{M^{+}(\chi_{E}) > \lambda\}}(x);$$
 (2.2)

$$(m_{\lambda}^{+}f(x))^{\beta} = m_{\lambda}^{+}(|f|^{\beta})(x);$$
 (2.3)

$$m_{\lambda}(\chi_{E})(x) - \chi_{\{M^{+}(\chi_{E}) > \lambda\}}(x),$$

$$(m_{\lambda}^{+}f(x))^{\beta} = m_{\lambda}^{+}(|f|^{\beta})(x);$$

$$m_{\lambda}^{+}(f+g)(x) \leqslant m_{\lambda/2}^{+}f(x) + m_{\lambda/2}^{+}g(x);$$

$$(2.3)$$

$$(2.4)$$

$$f(x) \leq m_{\lambda}^{+} f(x)$$
 almost everywhere (a.e.); (2.5)

if f is non-increasing, then 
$$f = m_{\lambda}^+ f$$
 for every  $\lambda > 0.$  (2.6)

We shall now point out a reverse weak-type inequality for the one-sided maximal operator. This result is essentially contained, though not stated explicitly, in [13]. We present its simple proof for the sake of completeness. Notice that in the two-sided case the reverse weak-type inequality is stated with  $1/2\lambda$  [14] instead of the best factor  $1/\lambda$ , which appears in the next result for the one-sided case.

**Lemma 2.3.** Let  $I = (a, b) \subset \mathbb{R}$  be a fixed interval. Then

$$|\{x \in I \colon M^+(f\chi_I)(x) > \lambda\}| \ge \frac{1}{\lambda} \int_{\{x \in I \colon f(x) > \lambda\}} f(x) \, \mathrm{d}x$$

for every  $\lambda \ge M^+(f\chi_I)(a)$  and every non-negative function  $f \in L^1_{loc}(\mathbb{R})$ .

**Proof.** It is well known [4, Lemma 21.75, p. 423] that

$$|\{x \in \mathbb{R} \colon M^+ f(x) > \lambda\}| = \frac{1}{\lambda} \int_{\{x \in \mathbb{R} \colon M^+ f(x) > \lambda\}} f(x) \,\mathrm{d}x.$$

$$(2.7)$$

Since  $f(x) \leq M^+ f(x)$  a.e. we obtain

$$|\{x \in \mathbb{R} \colon M^+ f(x) > \lambda\}| = \frac{1}{\lambda} \int_{\{x \in \mathbb{R} \colon M^+ f(x) > \lambda\}} f(x) \, \mathrm{d}x \ge \frac{1}{\lambda} \int_{\{x \in \mathbb{R} \colon f(x) > \lambda\}} f(x) \, \mathrm{d}x.$$

Applying this result to  $f\chi_I$ , we get

$$|\{x \in \mathbb{R} \colon M^+(f\chi_I)(x) > \lambda\}| \ge \frac{1}{\lambda} \int_{\{x \in I \colon f(x) > \lambda\}} f(x) \, \mathrm{d}x.$$

Since  $\lambda > M^+(f\chi_I)(a)$ , one has  $\{x \in \mathbb{R} \colon M^+(f\chi_I)(x) > \lambda\} \subset I$ , and the assertion follows.

We shall now show an important pointwise lower-type estimate for the rearrangement of the local maximal operator.

**Lemma 2.4.** Let  $x \in \mathbb{R}$ ,  $f \in L^1_{loc}(\mathbb{R})$ , h > 0, I = (x, x + h) and  $\lambda \in (0, 1)$ . If  $t \in (0, h)$  and

$$(\chi_I f)^*(\lambda t) > m_\lambda^+ f(x), \tag{2.8}$$

then

$$(\chi_I f)^*(\lambda t) \leqslant [\chi_I(m_\lambda^+ f)]^*(t).$$
(2.9)

**Remark 2.5.** We point out an interesting significant difference between (2.9) and the corresponding two-sided inequality: it is shown in [6, (3.7)] that

$$(\chi_I f)^* (2\lambda t) \leqslant [\chi_I(m_\lambda f)]^*(t),$$

where  $m_{\lambda}$  is the two-sided local maximal operator defined in [6] by

$$m_{\lambda}f(x) = \sup_{h,k>0} (f\chi_{(x-k,x+h)})^*(\lambda(h+k)).$$

The factor 2 does not appear in (2.9) due to its absence from the inequality asserted in Lemma 2.3.

**Proof of Lemma 2.4.** By (2.1) we know that, for every  $\alpha > 0$ ,

$$\{y \in I : m_{\lambda}^{+}f(y) > \alpha\} = \{y \in I : M^{+}(\chi_{\{|f| > \alpha\}})(y) > \lambda\}.$$
(2.10)

Take  $\varepsilon > 0$  such that  $(\chi_I f)^*(\lambda t) - \varepsilon > m_{\lambda}^+ f(x)$ . Setting  $\alpha = (\chi_I f)^*(\lambda t) - \frac{1}{2}\varepsilon$  in (2.10) and defining

$$E := \{ y \in I \colon |f(y)| > (\chi_I f)^* (\lambda t) - \frac{1}{2} \varepsilon \},\$$

we get

$$|\{y \in I : m_{\lambda}^{+}f(y) > (\chi_{I}f)^{*}(\lambda t) - \frac{1}{2}\varepsilon\}| = |\{y \in I : M^{+}(\chi_{E})(y) > \lambda\}|$$

Observe that, for s < h,

$$\frac{1}{s} \int_{x}^{x+s} \chi_{E}(y) \,\mathrm{d}y = \frac{1}{s} |\{y \in (x, x+s) \colon |f(y)| > (\chi_{I}f)^{*}(\lambda t) - \frac{1}{2}\varepsilon\}|$$

$$\leq \frac{1}{s} |\{y \in (x, x+s) \colon |f(y)| > m_{\lambda}^{+}f(x) + \frac{1}{2}\varepsilon\}|$$

$$\leq \frac{1}{s} |\{y \in (x, x+s) \colon |f(y)| > (f\chi_{(x, x+s)})^{*}(\lambda s) + \frac{1}{2}\varepsilon\}|$$

$$\leq \lambda.$$

Then  $M^+(\chi_E)(x) = M^+(\chi_E\chi_I)(x) \leq \lambda$  and we can apply the reverse inequality to  $f = \chi_E$  and  $\lambda$ . Therefore,

$$|\{y \in I \colon m_{\lambda}^+ f(y) > (\chi_I f)^* (\lambda t) - \frac{1}{2}\varepsilon\}| \ge \frac{1}{\lambda} |\{y \in I \colon |f(y)| > (\chi_I f)^* (\lambda t) - \frac{1}{2}\varepsilon\}| > \frac{1}{\lambda} \lambda t = t,$$

and, by the definition of the non-increasing rearrangement,

$$[\chi_I(m_\lambda^+ f)]^*(t) \ge (\chi_I f)^*(\lambda t) - \frac{1}{2}\varepsilon$$

On letting  $\varepsilon \to 0$ , we obtain the claim.

Now we are in a position to formulate a proposition that constitutes a key step in our analysis.

**Proposition 2.6.** Let  $\lambda \in (0,1)$  and let f be a measurable function. Then

(i) for every t > 0, we have

$$f^*(\lambda t) = (m_{\lambda}^+ f)^*(t);$$
(2.11)

(ii) for every  $\xi \in (0, 1)$ , we have

$$m_{\lambda\xi}^+ f(x) \leqslant m_{\xi}^+ (m_{\lambda}^+ f)(x)$$
 for almost every  $x \in \mathbb{R}$ . (2.12)

**Remark 2.7.** It is worth noticing that, while in the one-sided case one has an equality in (2.11), the corresponding two-sided statement [6, Lemma 3.1] reads as follows:

$$f^*(2\lambda t) \leqslant (m_\lambda f)^*(t) \leqslant f^*(\frac{1}{3}\lambda t)$$

Again, this phenomenon is caused by the absence of multiplicative factors 2 and 3 in Lemma 2.3 and (2.7), respectively.

Another, even more dramatic, difference between the one-sided and two-sided environments is illustrated by Proposition 2.6 (ii), which provides us with an important estimate for a composition of two local maximal operators with possibly different parameters. It shows, in fact, that the (quasi-)norm of  $m_{\lambda}^+$ ,  $||m_{\lambda}^+||_X$ , in an arbitrary quasi-Banach function space X (see Definition 3.2, below), is a submultiplicative function of  $\lambda$ , in contrast to the two-sided case, where the corresponding function does not necessarily have this property (although it is comparable to a submultiplicative one). This is caused, once again, by the fact that the one-sided world allows a sharper reverse weak-type inequality (Lemma 2.3).

**Proof of Proposition 2.6.** We may assume that  $f \in L^1_{loc}(\mathbb{R})$ . From (2.1) and the weak-type (1, 1) inequality for  $M^+$  we get

$$\begin{split} |\{x \colon m_{\lambda}^{+}f(x) > \alpha\}| &= |\{x \colon M^{+}(\chi_{\{|f| > \alpha\}})(x) > \lambda\}| \\ &= \frac{1}{\lambda} |\{x \colon M^{+}(\chi_{\{|f| > \alpha\}})(x) > \lambda\} \cap \{x \colon |f(x)| > \alpha\}| \\ &= \frac{1}{\lambda} |\{x \colon |f(x)| > \alpha\}|. \end{split}$$

Then (i) follows from the above inequalities and the definition of the non-increasing rearrangement.

As for (ii), let h > 0 and  $t = \xi h$ . Assume that (2.8) holds for t and I = (x, x + h). Then, by Lemma 2.4, we get

$$(f\chi_{(x,x+h)})^*(\xi\lambda h) \leqslant [\chi_{(x,x+h)}(m_\lambda^+ f)]^*(\xi h) \leqslant m_\xi^+(m_\lambda^+ f)(x) \quad \text{for almost every } x.$$

On the other hand, if (2.8) does not hold for  $t = \xi h$ , then, using (2.5), we get

$$(f\chi_{(x,x+h)})^*(\xi\lambda h) \leqslant m_\lambda^+ f(x) \leqslant m_\xi^+(m_\lambda^+ f)(x)$$
 for almost every  $x$ .

Taking the supremum over all h > 0, we obtain (2.12).

We finish this section by establishing a pointwise inequality between the local and the ordinary one-sided maximal operators.

**Proposition 2.8.** Let  $\lambda \in (0, 1)$  and let f be a measurable function. Then

$$m_{\lambda}^{+}f(x) \leqslant \frac{4}{\lambda \log(1/\lambda)} M^{+}(M^{+}f)(x), \quad x \in \mathbb{R}.$$
(2.13)

**Proof.** Let h > 0 and I = (x, x + h). As in the two-sided case, we have the inequality

$$f^{**}(t) \leq 2(M^+f)^*(t), \quad t \in (0,\infty),$$

where

$$f^{**}(t) = \frac{1}{t} \int_0^t f^*(s) \, \mathrm{d}s$$

(see [1, p. 122] for the two-sided case). Then

$$(f\chi_I)^*(\lambda|I|) \leqslant \frac{1}{\lambda|I|} \int_0^{\lambda|I|} (f\chi_I)^*(\tau) \,\mathrm{d}\tau$$
  
$$\leqslant \frac{1}{\lambda \log(1/\lambda)|I|} \int_0^{\lambda|I|} (f\chi_I)^*(\tau) \log\left(\frac{|I|}{\tau}\right) \,\mathrm{d}\tau$$
  
$$\leqslant \frac{1}{\lambda \log(1/\lambda)|I|} \int_0^{|I|} (f\chi_I)^{**}(\tau) \,\mathrm{d}\tau$$
  
$$\leqslant \frac{2}{\lambda \log(1/\lambda)|I|} \int_0^{|I|} (M^+(f\chi_I))^*(\tau) \,\mathrm{d}\tau.$$

Next,

$$\int_{0}^{|I|} (M^{+}(f\chi_{I}))^{*}(\tau) d\tau = \sup_{|E|=|I|} \int_{E} M^{+}(f\chi_{I})(y) dy$$
  
$$\leq \sup_{|E|=h} \int_{E\cap(-\infty,x)} M^{+}(f\chi_{(x,x+h)})(y) dy$$
  
$$+ \sup_{|E|=h} \int_{E\cap(x,x+h)} M^{+}(f\chi_{(x,x+h)})(y) dy$$
  
$$\leq hM^{+}f(x) + \int_{x}^{x+h} M^{+}f(y) dy$$
  
$$\leq hM^{+}f(x) + hM^{+}(M^{+}f)(x)$$
  
$$\leq 2hM^{+}(M^{+}f)(x).$$

Therefore, we have

$$(f\chi_I)^*(\lambda|I|) \leqslant \frac{4}{\lambda \log(1/\lambda)} M^+(M^+f)(x), \quad x \in \mathbb{R},$$

and the desired inequality (2.13) follows by taking the supremum over all such intervals on the left.  $\hfill \Box$ 

#### 3. The main results

We shall work in the environment of the so-called quasi-Banach function spaces on  $\mathbb{R}$ .

**Definition 3.1.** We say that a linear space X of measurable functions on  $\mathbb{R}$ , equipped with a complete quasi-norm  $\|\cdot\|_X$ , is a *quasi-Banach function space* if the following three conditions are satisfied:

- if  $|f| \leq |g|$  almost everywhere in  $\mathbb{R}$ , then  $||f||_X \leq c ||g||_X$  for some absolute c > 0;
- if  $0 \leq f_n \nearrow f$  almost everywhere in  $\mathbb{R}$ , then  $||f_n||_X \nearrow ||f||_X$ ;
- $\chi_E \in X$  for every measurable E such that  $|E| < \infty$ .

**Definition 3.2.** Let X be a quasi-Banach space of functions on  $\mathbb{R}$ . We define

$$\varPhi_X^+(\lambda) := \|m_\lambda^+\|_X = \sup_{\|f\|_X \leqslant 1} \|m_\lambda^+ f\|_X, \quad \lambda \in (0,1).$$

Observe that  $\Phi_X^+$  is non-increasing on (0,1) and  $\Phi_X^+(\lambda) \ge 1$ . Moreover, by (2.12),  $\Phi_X^+$  is a submultiplicative function of  $\lambda$ . Consequently, if  $\Phi_X^+(\lambda) < +\infty$  for some  $\lambda \in (0,1)$  then it is so for all such  $\lambda$ .

**Definition 3.3.** Let X be a quasi-Banach space of functions on  $\mathbb{R}$ . Then the upper one-sided Boyd index of X is defined as

$$\alpha_X^+ := \begin{cases} \lim_{\lambda \to 0} \frac{\log \Phi_X^+(\lambda)}{\log(1/\lambda)} = \inf_{0 < \lambda < 1} \frac{\log \Phi_X^+(\lambda)}{\log(1/\lambda)} & \text{if } \Phi_X^+(\lambda) < +\infty \text{ for all } \lambda \in (0,1), \\ +\infty & \text{if } \Phi_X^+(\lambda) = +\infty \text{ for all } \lambda \in (0,1). \end{cases}$$

In order to see that the one-sided Boyd index is well defined we proceed as in [1, p. 147] and [6]. We sketch the argument. First, we need the following lemma.

**Lemma 3.4.** Let  $\omega$  be a real-valued, non-decreasing, non-negative and subadditive function on  $(0, +\infty)$ . Then  $\omega(s)/s$  tends to a finite limit  $\alpha$  as  $s \to +\infty$  and

$$\alpha = \lim_{s \to +\infty} \frac{\omega(s)}{s} = \inf_{s > 0} \frac{\omega(s)}{s}$$

We omit the proof since it is completely analogous to that of [1, Chapter 3, Lemma 5.8].

Now we can justify that  $\alpha_X^+$  is well defined. Assume that  $\Phi_X^+(\lambda) < +\infty$  for all  $\lambda \in (0,1)$ . Then Lemma 3.4 can be applied to the function  $\omega(s) = \log \Phi_X^+(\exp(-s)), s > 0$ . Therefore, the finite limit

$$\alpha = \lim_{s \to +\infty} \frac{\log \Phi_X^+(\exp\left(-s\right))}{s} = \inf_{s > 0} \frac{\log \Phi_X^+(\exp\left(-s\right))}{s}$$

exists. Finally, it is obvious that the change of variable  $\lambda = \exp(-s)$  gives

$$\alpha = \lim_{\lambda \to 0} \frac{\log \Phi_X^+(\lambda)}{\log(1/\lambda)} = \inf_{0 < \lambda < 1} \frac{\log \Phi_X^+(\lambda)}{\log(1/\lambda)}.$$

In conclusion,  $\alpha_X^+$  is well defined.

We shall now characterize the action of the one-sided maximal operator on quasi-Banach function spaces.

**Theorem 3.5.** Let X be a quasi-Banach function space on  $\mathbb{R}$ . Then the following statements are equivalent:

- (i)  $M^+$  is bounded on X;
- (ii)  $\alpha_X^+ < 1;$
- (iii)  $\Phi_X^+ \in L^1(0,1);$
- (iv)  $\lim_{\lambda \to 0} \lambda \Phi_X^+(\lambda) = 0.$

**Proof.** The proof follows the pattern of the proof of [6, Theorem 1.2] and uses ideas from [1]. We shall show the following implications: (iii)  $\Rightarrow$  (iv)  $\Rightarrow$  (ii)  $\Rightarrow$  (iii), (i)  $\Rightarrow$  (iv) and (ii)  $\Rightarrow$  (i).

(iii)  $\Rightarrow$  (iv) Since  $\Phi_X^+$  is non-increasing, we have

$$\frac{\lambda}{2}\Phi_X^+(\lambda) \leqslant \int_{\lambda/2}^{\lambda} \Phi_X^+(t) \, \mathrm{d}t \leqslant \int_0^{\lambda} \Phi_X^+(t) \, \mathrm{d}t.$$

It is clear that

$$\lim_{\lambda \to 0} \int_0^\lambda \Phi_X^+(t) \, \mathrm{d}t = 0$$

because  $\Phi_X^+$  is integrable. This implies (iv).

(iv)  $\Rightarrow$  (ii) It follows from (iv) that there exists  $\delta \in (0,1)$  such that  $\lambda \Phi_X^+(\lambda) < \frac{1}{2}$  for all  $\lambda \in (0, \delta)$ . Then

$$\frac{\log \Phi_X^+(\lambda)}{\log(1/\lambda)} < 1 + \frac{\log 2}{\log \lambda} < 1$$

for all  $\lambda \in (0, \delta)$ . Consequently,  $\Phi_X^+(\lambda) < +\infty$  for all  $\lambda \in (0, \delta)$  and

$$\alpha_X^+ = \inf_{0 < \lambda < 1} \frac{\log \Phi_X^+(\lambda)}{\log(1/\lambda)} < 1.$$

(ii)  $\Rightarrow$  (iii) Since  $\alpha_X^+ < 1$  we have that  $\Phi_X^+(\lambda) < +\infty$  for all  $\lambda$  and

$$\lim_{\lambda \to 0} \frac{\log \Phi_X^+(\lambda)}{\log(1/\lambda)} < 1.$$

Then there exist  $\varepsilon, \delta \in (0, 1)$  such that

$$\frac{\log \Phi_X^+(\lambda)}{\log(1/\lambda)} < 1 - \varepsilon$$

or, equivalently,

$$\varPhi_X^+(\lambda) < \frac{1}{\lambda^{1-\varepsilon}}$$

for all  $\lambda \in (0, \delta)$ . Thus,

$$\int_0^1 \Phi_X^+(\lambda) \, \mathrm{d}\lambda \leqslant \int_0^\delta \frac{1}{\lambda^{1-\varepsilon}} \, \mathrm{d}\lambda + \Phi_X^+(\delta)(1-\delta) < +\infty,$$

which yields (iii).

(i)  $\Rightarrow$  (iv) By Proposition 2.8, we have

$$\|m_{\lambda}^{+}f\|_{X} \leqslant \frac{4C}{\lambda \log(1/\lambda)} \|f\|_{X}$$

and

$$\Phi_X^+(\lambda) \leqslant \frac{4C}{\lambda \log(1/\lambda)},$$

and (iv) follows.

(ii)  $\Rightarrow$  (i) We know that there exist C > 0 and  $\delta \in (0, 1)$  such that

$$||m_{\lambda}^{+}f||_{X} \leqslant C\lambda^{-\delta}||f||_{X}.$$

Now, for every interval  $I \subset \mathbb{R}$ ,

$$\frac{1}{|I|} \int_{I} f(y) \, \mathrm{d}y \leqslant \int_{0}^{1} (f\chi_{I})^{*} (\lambda|I|) \, \mathrm{d}\lambda.$$

Thus,

$$M^+f(x) \leq \int_0^1 m_{\lambda}^+f(x) \, \mathrm{d}\lambda \leq \sum_{i=1}^\infty 2^{-i} m_{2^{-i}}^+f(x).$$

Hence, using a version of the Aoki–Rolewicz Theorem (see, for example, [5, p. 3]), for some  $p \leq 1$ ,

$$\|M^{+}f\|_{X} \leq \|\sum_{i=1}^{\infty} 2^{-i}m_{2^{-i}}^{+}f\|_{X} \leq 4^{1/p} \left(\sum_{i=1}^{\infty} \|2^{-i}m_{2^{-i}}^{+}f\|_{X}^{p}\right)^{1/p}$$
$$\leq C \left(\sum_{i=1}^{\infty} 2^{-(1-\delta)pi}\right)^{1/p} \|f\|_{X} \leq C \|f\|_{X}.$$

**Corollary 3.6.** Let X be a quasi-Banach function space on  $\mathbb{R}$ . Then  $M^+$  is bounded on X if and only if the operator  $M_r^+$ , defined by

$$M_r^+ f := (M^+ |f|^r)^{1/r},$$

is bounded on X for some r > 1.

**Proof.** We first define the space  $X_r$  by

$$||f||_{X_r} := ||f|^{1/r}||_X^r.$$

Note that the boundedness of  $M_r^+$  on X is equivalent to that of  $M^+$  on  $X_r$ . Therefore, by Theorem 3.5, it suffices to establish that  $\alpha_X^+ < 1$  if and only if there is an r > 1 such that  $\alpha_{X_r}^+ < 1$ . It follows from (2.3) that

$$\Phi_{X_r}^+(\lambda) = \Phi_X^+(\lambda)^r, \quad \lambda \in (0,1)$$

Then  $\alpha_{X_r}^+ = r \alpha_X^+$ , and the assertion follows.

**Remark 3.7.** If a quasi-Banach function space X on  $\mathbb{R}$  is rearrangement invariant, then  $\alpha_X^+$  coincides with the upper-Boyd index of X denoted by  $\bar{\alpha}_X$ . An analogous result for the two-sided index can be found in [6, Theorem 1.2], where  $\bar{\alpha}_X$  is defined as

$$\bar{\alpha}_X = \inf_{1 < t < \infty} \frac{\log h_X(t)}{\log t} = \lim_{t \to \infty} \frac{\log h_X(t)}{\log t}, \tag{3.1}$$

with

$$h_X(t) = \sup_{\|f\|_X \leq 1} \|D_{(1/t)}f\|_X$$
 and  $D_{(1/t)}f(x) = f\left(\frac{x}{t}\right).$ 

Let us show that  $\alpha_X^+ = \bar{\alpha}_X$ . Let  $f^*$  be the symmetric rearrangement of a measurable function f, that is,

$$f^{\star}(x) = f^{\star}(2|x|).$$

10

The functions f and  $f^*$  are equimeasurable. It follows from  $(D_{\lambda}f)^*(t) = f^*(\lambda t)$  and (2.11) that

$$(D_{\lambda}f)^{\star}(x) = (D_{\lambda}f)^{\star}(2|x|) = f^{\star}(2\lambda|x|) = (m_{\lambda}^{+}f)^{\star}(2|x|) = (m_{\lambda}^{+}f)^{\star}(x).$$

Therefore,

$$||D_{\lambda}f||_{X} = ||m_{\lambda}^{+}f||_{X}.$$

Thus,  $h_X(t) = \Phi_X^+(1/t)$ , and the desired identity  $\alpha_X^+ = \bar{\alpha}_X$  follows from (3.1) and Definition 3.3.

**Remark 3.8.** One can define, with obvious modifications only, the functions  $m_{\lambda}^{-}$ ,  $\Phi_{X}^{-}$  and the index  $\alpha_{X}^{-}$  associated to the left one-sided Hardy–Littlewood maximal operator  $M^{-}$ . It is not difficult to prove then that the following relations hold:

$$\max(m_{\lambda}^{-}, m_{\lambda}^{+}) \leqslant m_{\lambda} \leqslant m_{\lambda}^{-} + m_{\lambda}.$$

It follows that

$$\max(\Phi_X^-(\lambda), \Phi_X^+(\lambda)) \leqslant \Phi_X(\lambda) \leqslant 2\max(\Phi_X^-(\lambda), \Phi_X^+(\lambda))$$

where  $\Phi_X(\lambda) = ||m_\lambda||_X$ . Therefore,

$$\frac{\max\{\log \Phi_X^-(\lambda), \log \Phi_X^+(\lambda)\}}{\log(1/\lambda)} \leqslant \frac{\log \Phi_X(\lambda)}{\log(1/\lambda)} \leqslant \frac{\log 2}{\log(1/\lambda)} + \max\left\{\frac{\log \Phi_X^-(\lambda)}{\log(1/\lambda)}, \frac{\log \Phi_X^+(\lambda)}{\log(1/\lambda)}\right\}$$

On letting  $\lambda \to 0$ , we have

$$\max\{\alpha_X^-, \alpha_X^+\} = \alpha_X,$$

where

$$\alpha_X = \lim_{\lambda \to 0} \frac{\log \Phi_X(\lambda)}{\log(1/\lambda)}$$

is the two-sided index introduced in [6]. Then, for instance, Theorem 1.2 from [6] in dimension 1 is a consequence of Theorem 3.5 and the corresponding one for the left one-sided case.

## 4. An application to weighted Lebesgue spaces

Let u be a weight, that is, a non-negative measurable function on  $\mathbb{R}$ . We shall give a characterization of the boundedness of  $M^+$  on the weighted Lebesgue space  $L^p_u$  by using the main result of the preceding section (Theorem 3.5).

One of the principal results of this section is Theorem 4.6, in which we compute the one-sided Boyd index and the function  $\Phi^+$  for a weighted Lebesgue space. Once equipped with this result, combining it with Theorem 3.5, we get, as an application, a new characterization of the boundedness of the one-sided maximal operator on a weighted Lebesgue space. Moreover, as a corollary, we get a new proof of the earlier, celebrated Sawyer characterization [13].

In this connection it is of interest to recall the corresponding restricted weak-type inequality, which had been characterized in [12] by the  $A_{p,1}^+$  condition. Again, we shall obtain a new proof of this result as a corollary of our main results. We note that our characterization of it is similar to  $A_{p,1}^+$ , but it contains a bump-function factor.

We start by computing  $\Phi_{L_{u}^{p}}^{+}$  and establishing some results that will be needed in the proofs of the main theorems of this section.

**Lemma 4.1.** Let p > 0 and define

$$\Psi_p^+(\lambda) := \sup_E \left(\frac{u(\{x \colon M^+\chi_E(x) > \lambda\})}{u(E)}\right)^{1/p},$$

where the supremum is taken over all measurable sets such that u(E) > 0. Then, we have

$$\Phi_{L_{\nu}^{p}}^{+}(\lambda) = \Psi_{p}^{+}(\lambda), \quad \lambda \in (0,1).$$

$$(4.1)$$

**Proof.** By (2.2),

$$\Phi_{L_{u}^{p}}^{+}(\lambda) \geq \frac{\|m_{\lambda}^{+}(\chi_{E})\|_{L_{u}^{p}}}{\|\chi_{E}\|_{L_{u}^{p}}} = \left(\frac{u(\{x: M^{+}\chi_{E}(x) > \lambda\})}{u(E)}\right)^{1/p}.$$

Taking the supremum over all E, we obtain

$$\Psi_p^+(\lambda) \leqslant \Phi_{L_p^p}^+(\lambda), \quad \lambda \in (0,1).$$

As for the converse inequality, we use (2.1) in order to get

$$\begin{split} u(\{x\colon m_{\lambda}^{+}f(x) > \alpha\}) &= u(\{x\colon M^{+}\chi_{\{|f| > \alpha\}}(x) > \lambda\}) \\ &\leqslant [\varPsi_{p}^{+}(\lambda)]^{p}u(\{x\colon |f(x)| > \alpha\}), \end{split}$$

Thus,

$$||m_{\lambda}^{+}f||_{L_{u}^{p}} \leq \Psi_{p}^{+}(\lambda)||f||_{L_{u}^{p}}.$$

Therefore,

$$\Phi_{L^p_u}^+(\lambda) \leqslant \Psi_p^+(\lambda), \quad \lambda \in (0,1),$$

finishing the proof.

In what follows, we will use the following notation: if I = (a, c) and a < b < c, then  $I^- = (a, b)$  and  $I^+ = (b, c)$ . By saying that a certain statement holds 'for all intervals I,  $I^-$  and  $I^+$ ' we mean that it holds for all intervals I and all possible partitions of I into intervals  $I^-$  and  $I^+$ .

**Proposition 4.2.** Let  $\varphi$  be a non-increasing function on  $\mathbb{R}$  and let  $\psi$  be a non-decreasing function on  $\mathbb{R}$ .

(i) If

$$u(\{x: M^+f(x) > \lambda\}) \leq C\varphi(\lambda) \int_{\mathbb{R}} \psi(|f(x)|)u(x) \, \mathrm{d}x$$

holds with some C > 0 independent of f and  $\lambda$ , then

$$u(I^{-})\left(\varphi\left(\frac{1}{|I|}\int_{I^{+}}|f(y)|\,\mathrm{d} y\right)\right)^{-1}\leqslant C\int_{I^{+}}\psi(|f(y)|)u(y)\,\mathrm{d} y$$

holds with some C > 0 for all functions f on  $\mathbb{R}$ , all intervals I,  $I^-$  and  $I^+$ .

(ii) If there exists a C > 0 such that

$$u(I^{-})\left(\varphi\left(\frac{4}{|I|}\int_{I^{+}}|f(y)|\,\mathrm{d}y\right)\right)^{-1}\leqslant C\int_{I^{+}}\psi(|f(y)|)u(y)\,\mathrm{d}y$$

for all functions f on  $\mathbb{R}$ , all intervals I,  $I^-$  and  $I^+$ , then

$$u(\{x: M^+f(x) > \lambda\}) \leqslant C\varphi(\lambda) \int_{\mathbb{R}} \psi(|f(x)|)u(x) \, \mathrm{d}x$$

holds for all f and  $\lambda$ .

**Proof.** Assertion (i) follows by testing the inequality on the functions  $f = \chi_{I^+}$ . For the proof of (ii), as usual, we write

$$\{x \in \mathbb{R} \colon M^+ f(x) > \lambda\} = \bigcup_{i=1}^{\infty} (a_i, b_i),$$

where

$$\lambda = \frac{1}{b_i - a_i} \int_{a_i}^{b_i} |f(x)| \, \mathrm{d}x$$

and

$$\lambda < \frac{1}{b_i - x} \int_x^{b_i} |f(y)| \,\mathrm{d}y, \quad x \in (a_i, b_i).$$

For a fixed  $i \in \mathbb{N}$ , we define the sequence  $\{x_{i,n}\}$  by

$$x_{i,0} = a_i;$$

and when  $x_{i,n-1}$  is established, we define  $x_{i,n} \in (x_{i,n-1}, b_i)$  so that

$$\int_{x_{i,n-1}}^{x_{i,n}} |f| = \int_{x_{i,n}}^{b_i} |f|$$

We also define  $I_{i,n} := (x_{i,n}, x_{i,n+1})$ . Then, of course,

$$\lambda < \frac{1}{b_i - x_{i,n}} \int_{x_{i,n}}^{b_i} |f(y)| \, \mathrm{d}y = \frac{4}{b_i - x_{i,n}} \int_{x_{i,n+1}}^{x_{i,n+2}} |f(y)| \, \mathrm{d}y.$$

Consequently,

$$\begin{split} u(\{x \in \mathbb{R} : M^+ f(x) > \lambda\}) &= \sum_{i=1}^{\infty} \sum_{n=1}^{\infty} u(I_{i,n}) \\ &\leqslant \sum_{i=1}^{\infty} \sum_{n=1}^{\infty} u(I_{i,n}) \varphi(\lambda) \left(\varphi\left(\frac{4}{b_i - x_{i,n}} \int_{x_{i,n+1}}^{x_{i,n+2}} |f(y)| \, \mathrm{d}y\right)\right)^{-1} \\ &\leqslant C\varphi(\lambda) \sum_{i=1}^{\infty} \sum_{n=1}^{\infty} u(I_{i,n}) \left(\varphi\left(\frac{4}{b_i - x_{i,n}} \int_{x_{i,n+1}}^{x_{i,n+2}} |f(y)| \, \mathrm{d}y\right)\right)^{-1} \\ &\leqslant C\varphi(\lambda) \sum_{i=1}^{\infty} \sum_{n=1}^{\infty} \int_{I_{i,n+1}} \psi(|f(x)|) u(x) \, \mathrm{d}x \\ &\leqslant C\varphi(\lambda) \int_{\mathbb{R}} \psi(|f(x)|) u(x) \, \mathrm{d}x. \end{split}$$

The next result can be obtained in the same way as Proposition 4.2.

**Proposition 4.3.** Let  $\varphi$  be a non-increasing function on  $\mathbb{R}$  and let  $\psi$  be a non-decreasing function on  $\mathbb{R}$ .

(i) If

$$u(\{x \colon M^+\chi_E(x) > \lambda\}) \leqslant C\varphi(\lambda)u(E)$$

holds with some C > 0 independent of the set  $E \subset I^+$  and  $\lambda > 0$ , then

$$\frac{u(I^-)}{\varphi(|E|/|I|)} \leqslant Cu(E)$$

holds with some C > 0 for all intervals  $I, I^-, I^+$  and all  $E \subset I^+$ .

(ii) If there exists a C > 0 such that

$$\frac{u(I^-)}{\varphi(4|E|/|I|)} \leqslant Cu(E)$$

holds with some C > 0 for all intervals  $I, I^-, I^+$  and all  $E \subset I^+$ , then

$$u(\{x: M^+\chi_E(x) > \lambda\}) \leqslant C\varphi(\lambda)u(E)$$

holds with some C > 0 independent of the set  $E \subset \mathbb{R}$  and  $\lambda > 0$ .

It is worth noticing that Proposition 4.3 immediately yields the characterization of the restricted weak-type (p, p) of  $M^+$  by the  $A_{p,1}^+$  condition, proved earlier in [12]. For a weight u on  $\mathbb{R}$  and a measurable set  $E \subset \mathbb{R}$ , we write u(E) for  $\int_E u(y) \, dy$ .

**Corollary 4.4.** Let u be a weight on  $\mathbb{R}$  and let 1 . Then the following statements are equivalent.

(i) There exists a C > 0 such that

$$u(\{x: M^+\chi_E(x) > \lambda\}) \leq \frac{C}{\lambda^p}u(E)$$

for all sets set  $E \subset \mathbb{R}$  and all  $\lambda > 0$ .

(ii) There exists a C > 0 such that

$$\frac{|E|}{|I|} \leqslant C \left(\frac{u(E)}{u(I^-)}\right)^{1/p}$$

for all intervals  $I, I^-, I^+$  and all  $E \subset I^+$ .

**Definition 4.5.** Let u be a weight on  $\mathbb{R}$ . We define

$$\nu_u^+(\lambda) := \inf_{I,I^-,I^+} \inf_{|E|=\lambda|I|,E\subset I^+} \frac{u(E)}{u(I^-)}, \quad 0<\lambda<1,$$

where the infima are taken over all intervals I,  $I^-$  and  $I^+$  and all subsets  $E \subset I^+$  with  $|E| = \lambda |I|$ .

The principal result in this section is the following theorem.

**Theorem 4.6.** For any p > 0, we have

$$\frac{1}{(\nu_u^+)^{1/p}(\lambda)} \leqslant \Phi_{L_u^p}^+(\lambda) \leqslant \frac{C_2}{(\nu_u^+)^{1/p}(\frac{1}{4}\lambda)}$$
(4.2)

and

$$\alpha_{L_u^p}^+ = \frac{1}{p} \lim_{\lambda \to 0} \frac{\log(1/\nu_u^+(\lambda))}{\log 1/\lambda}.$$
(4.3)

**Proof.** By Lemma 4.1, we have

$$\left(\Phi_{L^p_u}^+\left(\frac{|E|}{|I|}\right)\right)^{-1} \leqslant \left(\frac{u(E)}{u(I^-)}\right)^{1/p}$$

whenever  $E \subset I^+$  and  $|E| = \lambda |I|$ . Therefore,

$$\frac{1}{(\nu_u^+)^{1/p}(\lambda)} \leqslant \varPhi_{L_u^p}^+(\lambda).$$

By the definition of  $\nu_u^+$ , we know that

$$\nu_u^+\left(\frac{|E|}{|I|}\right) \leqslant \frac{u(E)}{u(I^-)}$$

whenever  $E \subset I^+$ . Clearly,

$$\varphi(\lambda) := \frac{1}{\nu_u^+(\frac{1}{4}\lambda)}$$

is non-increasing. Hence, by Proposition 4.3,

$$u(\{x: M^+(\chi_E)(x) > \lambda\}) \leqslant C\varphi(\lambda)u(E).$$

From this and from Lemma 4.1, we obtain

$$\Phi_{L_u^p}^+(\lambda) \leqslant C \frac{1}{(\nu_u^+)^{1/p}(\frac{1}{4}\lambda)}, \quad 0 < \lambda < 1.$$

This proves (4.2). Finally, (4.3) follows on taking the appropriate limits in (4.2).  $\Box$ 

Our next aim is to apply Theorem 4.6 to get a new description of boundedness of  $M^+$  on weighted Lebesgue spaces. To this end, we need to introduce the notion of a bump function.

**Definition 4.7.** We say that a function  $\psi$  on  $[1, \infty)$  is a *bump function* and write  $\psi \in \mathcal{A}$  if  $\psi$  is non-decreasing, positive,  $\lim_{t\to\infty} \psi(t) = \infty$  and  $\psi(t) = O(t^{\varepsilon})$  for every  $\varepsilon > 0$ .

Now we can state and prove the main application theorem.

**Theorem 4.8.** Let 1 . Given a weight <math>u on  $\mathbb{R}$ , then the following statements are equivalent:

(i)  $M^+$  is bounded on  $L^p_u$ ;

(ii) 
$$\lim_{\lambda \to 0+} \frac{\nu_u^+(\lambda)}{\lambda^p} = \infty;$$

(iii) 
$$\lim_{\lambda \to 0+} \frac{1}{\log 1/\lambda} \log \left(\frac{1}{\nu_u^+(\lambda)}\right) < p;$$

(iv) if  $\psi \in A$ , then there exists a positive constant C such that, for all intervals I,  $I^-$ ,  $I^+$  and every  $E \subset I^+$ ,

$$\frac{|E|}{|I|}\psi\bigg(\frac{|I|}{|E|}\bigg) \leqslant C\bigg(\frac{u(E)}{u(I^{-})}\bigg)^{1/p}; \tag{4.4}$$

(v) if  $\psi \in A$ , then there exists a positive constant C such that, for all intervals I,  $I^-$ ,  $I^+$  such that  $|I^-| = |I^+|$  and every  $E \subset I^+$ ,

$$\frac{|E|}{|I|}\psi\bigg(\frac{|I|}{|E|}\bigg) \leqslant C\bigg(\frac{u(E)}{u(I^{-})}\bigg)^{1/p}.$$

**Proof.** The equivalences (i)  $\Leftrightarrow$  (ii)  $\Leftrightarrow$  (iii) follow from Theorems 3.5 and 4.6. Since (iv)  $\Rightarrow$  (v) is obvious, it will suffice to show (iv)  $\Rightarrow$  (ii), (iii)  $\Rightarrow$  (iv) and (v)  $\Rightarrow$  (iv).

We have from (4.4) that

$$\psi\left(\frac{1}{\lambda}\right)^p \leqslant C \frac{\nu_u^+(\lambda)}{\lambda^p}.$$

Since  $\lim_{t\to\infty} \psi(t) = \infty$ , the implication (iv) $\Rightarrow$ (ii) follows.

Let us assume that (iii) holds. Then there exists a  $\delta \in (0, 1)$  such that

$$\lambda^{\delta} \leqslant C \nu_u^+(\lambda)^{1/p}.$$

Therefore,

$$\left(\frac{|E|}{|I|}\right)^{\delta} \leqslant C\left(\frac{u(E)}{u(I^{-})}\right)^{1/p},$$

that is,

$$\frac{|E|}{|I|} \left(\frac{|I|}{|E|}\right)^{1-\delta} \leqslant C \left(\frac{u(E)}{u(I^{-})}\right)^{1/p}.$$

Since  $\psi(t) = O(t^{\varepsilon})$  for every  $\varepsilon > 0$ , we have

$$\frac{|E|}{|I|}\psi\bigg(\frac{|I|}{|E|}\bigg) \leqslant C\bigg(\frac{u(E)}{u(I^-)}\bigg)^{1/p},$$

as desired.

Finally, we shall prove (v)  $\Rightarrow$  (iv). Assume that (v) holds and let  $I = (a, c), I^- = (a, b), I^+ = (b, c)$  and  $E \subset I^+$ . If  $|I^-| \leq |I^+|$ , we can choose  $\bar{a} \leq a$  such that if  $J = (\bar{a}, c), J^- = (\bar{a}, b)$  and  $J^+ = (b, c)$ . Then we have  $|J^-| = |J^+|$ . Applying (v), we get

$$\frac{|E|}{|J|}\psi\bigg(\frac{|J|}{|E|}\bigg) \leqslant C\bigg(\frac{u(E)}{u(J^-)}\bigg)^{1/p}.$$

Since  $|I| \leq |J| \leq 2|I|$ ,  $I^- \subset J^-$  and  $\psi$  is non-decreasing,

$$\frac{|E|}{|I|}\psi\bigg(\frac{|I|}{|E|}\bigg) \leqslant 2C\bigg(\frac{u(E)}{u(I^-)}\bigg)^{1/p}.$$

If  $|I^+| \leq |I^-|$ , we proceed in a similar way choosing  $\bar{c} \geq c$ ,  $J = (a, \bar{c})$ ,  $J^- = (a, b)$  and  $J^+ = (b, \bar{c})$ .

The following corollary is immediate from Theorem 4.8 (iii).

**Corollary 4.9.** Let 1 . Given a weight <math>u, if  $M^+$  is bounded on  $L^p_u$ , then  $M^+$  is bounded on  $L^q_u$  for some q < p.

We shall finish this section by pointing out that Theorem 4.8 leads to a new proof of the equivalence of the condition  $A_p^+$  to the boundedness of  $M^+$  on  $L_u^p$  proved first by Sawyer in [13] (more precisely, its sufficiency part).

We start with proving an auxiliary technical assertion.

**Lemma 4.10.** If  $u \in A_p^+$ , then there exists C > 0 such that for any function f and any interval I = (a, d),

$$\frac{1}{|I|} \int_{I} |f(x)| \, \mathrm{d}x \leqslant C[M_{u}^{+}(|f|^{p}\chi_{I})(a)]^{1/p}.$$
(4.5)

**Proof.** Let  $\{x_i\}$  be a sequence such that  $x_0 = d$  and  $u(x_{i+1}, x_i) = u(a, x_{i+1})$ . Since  $u \in A_p^+$ ,

$$\begin{split} \int_{x_{i+1}}^{x_i} |f(y)| \, \mathrm{d}y &\leq \left( \int_{x_{i+1}}^{x_i} |f(y)|^p u(y) \, \mathrm{d}y \right)^{1/p} \left( \int_{x_{i+1}}^{x_i} u(y)^{-1/(p-1)} \, \mathrm{d}y \right)^{(p-1)/p} \\ &\leq C \left( \int_{x_{i+1}}^{x_i} |f(y)|^p u(y) \, \mathrm{d}y \right)^{1/p} \left( \int_{x_{i+2}}^{x_{i+1}} u(y) \, \mathrm{d}y \right)^{-1/p} (x_i - x_{i+2}) \\ &\leq C \left[ \frac{1}{u(a, x_i)} \int_a^{x_i} |f(y)|^p u(y) \, \mathrm{d}y \right]^{1/p} (x_i - x_{i+2}) \\ &\leq C [M_u^+ (|f|^p \chi_I)(a)]^{1/p} (x_i - x_{i+2}). \end{split}$$

Summing over i, we obtain the lemma.

The following proposition is the key to our application goal.

**Proposition 4.11.** Let  $1 . If <math>u \in A_p^+$ , then there exists C > 0 such that, for every interval I = (a, c) and  $E \subset I^+ = (b, c)$ ,

$$\frac{|E|}{|I|}\log^{1-1/p}\left(\mathbf{e}+\frac{|I|}{|E|}\right) \leqslant C\left(\frac{u(E)}{u(I^{-})}\right)^{1/p}.$$

In other words, the  $A_p^+$  condition implies (4.4) with  $\psi(t) := \log^{1-1/p}(e+t)$ .

**Proof.** By the equivalence (iv)  $\Leftrightarrow$  (v) in Theorem 4.8, we may assume that  $|I^-| = |I^+|$ . The proof follows the lines of [6]. However, we have to overcome several technical obstacles caused by the nature of the one-sided setting.

**Claim 4.12.** If  $u \in A_p^+$ , then there exists C > 0 such that for every interval I = (a, c) and all  $E \subset I^+$ 

$$\frac{1}{|I|} \int_{I} M^{+}(\chi_{E})(x) \,\mathrm{d}x \leqslant C[M_{u}^{+}(M_{u}^{+}(\chi_{E}))(a)]^{1/p}, \tag{4.6}$$

where

$$M_u^+ f(x) := \sup_{h>0} \frac{1}{u(x, x+h)} \int_x^{x+h} |f(y)| u(y) \, \mathrm{d}y,$$

where the quotient is understood as zero when u(x, x + h) = 0.

Proof of Claim 4.12. It follows from the lemma that

$$M^{+}(f\chi_{I})(x) \leqslant C[M_{u}^{+}(|f|^{p}\chi_{I})(x)]^{1/p}$$
(4.7)

for all  $x \in I$ . Now, by (4.5), with f replaced by  $M^+(f\chi_I)$  and applying (4.7), we get

$$\frac{1}{|I|} \int_{I} M^{+}(f\chi_{I})(x) \,\mathrm{d}x \leqslant C[M_{u}^{+}(M_{u}^{+}(|f|^{p}))(a)]^{1/p}.$$
(4.8)

Taking  $f = \chi_E$ , with  $E \subset I^+$  in (4.8), we get the claim.

18

Claim 4.13. There exists a C > 0 such that for every interval I = (a, c) and all  $E \subset I^+$ 

$$\frac{1}{|I|} \int_{I} M^{+}(\chi_{E})(x) \, \mathrm{d}x \ge C \frac{|E|}{|I|} \log\left(\mathrm{e} + \frac{|I|}{|E|}\right).$$

Proof of Claim 4.13. We have

$$\int_{I} M^{+}(\chi_{E})(x) \, \mathrm{d}x = \int_{0}^{\infty} |\{x \in I : M^{+}(\chi_{E})(x) > \lambda\}| \, \mathrm{d}\lambda$$
$$= \int_{0}^{|E|/|I^{+}|} |\{x \in I : M^{+}(\chi_{E})(x) > \lambda\}| \, \mathrm{d}\lambda$$
$$+ \int_{|E|/|I^{+}|}^{\infty} |\{x \in I : M^{+}(\chi_{E})(x) > \lambda\}| \, \mathrm{d}\lambda$$
$$=: \mathrm{I} + \mathrm{II}.$$

Notice that if  $x \in I^-$  and  $\lambda < |E|/2|I^+|$ , then  $M^+(\chi_E)(x) > \lambda$ , so that

$$I \ge \int_0^{|E|/2|I^+|} |\{x \in I^- \colon M^+(\chi_E)(x) > \lambda\}| \, \mathrm{d}\lambda = \frac{1}{2}|E|.$$

In order to estimate II, we use a version of the reverse inequality for the one-sided maximal operator from [2, Lemma 3.3]. We get

$$II \ge C \int_{|E|/|I^+|}^{\infty} \frac{1}{\lambda} \int_{\{x \in I^+: \chi_E(x) > \lambda\}} \chi_E(x) \, \mathrm{d}x \, \mathrm{d}\lambda$$
$$= C \int_E \int_{|E|/|I^+|}^1 \frac{1}{\lambda} \, \mathrm{d}\lambda \, \mathrm{d}x$$
$$= C|E| \log\left(\frac{|I^+|}{|E|}\right);$$

hence

$$\frac{1}{|I|} \int_{I} M^{+}(\chi_{E})(x) \, \mathrm{d}x \ge \frac{|E|}{2|I|} + C\frac{|E|}{|I|} \log\left(\frac{|I|}{2|E|}\right) \ge C\frac{|E|}{|I|} \log\left(\mathrm{e} + \frac{|I|}{|E|}\right).$$

This proves Claim 4.13.

Claim 4.14. There exists a C > 0 such that

$$M_u^+(M_u^+(f))(a) \le C M_{u,L\log L}^+(f)(a),$$

where

$$M_{u,L\log L}^+(f)(a) := \sup_{b>a} ||f||_{u,L\log L,(a,b)}$$

and

$$\|f\|_{u,L\log L,(a,b)} := \inf\bigg\{\lambda > 0 \colon \frac{1}{u(a,b)} \int_a^b \frac{|f(x)|}{\lambda} \log\bigg(e + \frac{|f(x)|}{\lambda}\bigg) u(x) \, \mathrm{d}x \leqslant 1\bigg\}.$$

Proof of Claim 4.14. First, we shall prove that

$$\frac{1}{u(J)} \int_{J} (M_u^+ f)(x) u(x) \, \mathrm{d}x \leqslant C \|f\|_{u,L\log L,J}$$
(4.9)

for all f such that  $\operatorname{supp}(f) \subset J$ , where J is an interval. In fact, by a homogeneity argument we may assume that  $\|f\|_{u,L\log L,J} = 1$  and, thus,

$$\frac{1}{u(J)} \int_J |f(x)| \log(\mathbf{e} + |f(x)|) u(x) \, \mathrm{d}x \leqslant 1.$$

Now, using the weak-type (1, 1) inequality for  $M_u^+$  with respect to the measure u(x) dx, we get

$$\begin{split} \int_{J} (M_{u}^{+}f)(x)u(x) \, \mathrm{d}x &= \int_{0}^{\infty} u(\{x \in J \colon M_{u}^{+}f(x) > \lambda\}) \, \mathrm{d}\lambda \\ &\leq u(J) + C \int_{1}^{\infty} \frac{1}{\lambda} \int_{\{x \in J \colon |f(x)| > 1/2\}} |f(x)|u(x) \, \mathrm{d}x \, \mathrm{d}\lambda \\ &= u(J) + C \int_{\{x \in J \colon |f(x)| > 1/2\}} |f(x)|u(x) \int_{1}^{2|f(x)|} \frac{1}{\lambda} \, \mathrm{d}\lambda \, \mathrm{d}x \\ &= u(J) + C \int_{\{x \in J \colon |f(x)| > 1/2\}} |f(x)|u(x) \log(2|f(x)|) \, \mathrm{d}x \\ &\leq u(J) + C \int_{J} |f(x)| \log(e + |f(x)|)u(x) \, \mathrm{d}x. \\ &\leq Cu(J). \end{split}$$

Hence, (4.9) follows for f such that supp  $f \subset J$ .

Let d > a and let  $\tilde{d} > d$  be such that  $u(a,d) = u(d,\tilde{d})$ . (The existence of such  $\tilde{d}$  is guaranteed by the condition  $A_p^+$ .) We write  $f = f_1 + f_2$  with  $f_1 = f\chi_J$ , where  $J = (a, \tilde{d})$ . Then

$$\frac{1}{u(a,d)} \int_{a}^{d} (M_{u}^{+}f)(x)u(x) \, \mathrm{d}x$$
  
$$\leqslant \frac{1}{u(a,d)} \int_{a}^{d} (M_{u}^{+}f_{1})(x)u(x) \, \mathrm{d}x + \frac{1}{u(a,d)} \int_{a}^{d} (M_{u}^{+}f_{2})(x)u(x) \, \mathrm{d}x$$
  
$$=: \mathrm{I} + \mathrm{II}.$$

By (4.9),

$$I \leqslant \frac{2}{u(J)} \int_{J} (M_{u}^{+} f_{1})(x) u(x) \, \mathrm{d}x \leqslant C \|f_{1}\|_{u,L \log L,J} \leqslant C M_{u,L \log L}^{+}(f)(a)$$

On the other hand, since  $(M_u^+ f_2)(x) \leq 2(M_u^+ f_2)(a)$  for every  $x \in (a, d)$ , we get

$$II \leq 2(M_u^+ f_2)(a) \leq 2M_{u,L\log L}^+(f)(a).$$

The claim now follows on taking the supremum over d > a.

**Claim 4.15.** There exists a C > 0 such that, for every interval I = (a, c) and all  $E \subset I^+$ ,

$$M_u^+(M_u^+(\chi_E))(a) \leqslant C \frac{u(E)}{u(I^-)} \log\left(e + \frac{u(I^-)}{u(E)}\right)$$

**Proof of Claim 4.15.** Let h > 0 such that  $\lambda_h := \|\chi_E\|_{u,L\log L,(a,a+h)} > 0$ . Then

$$\frac{1}{\lambda_h} \log\left(\mathbf{e} + \frac{1}{\lambda_h}\right) = \frac{u(a, a+h)}{u(E \cap (a, a+h))} \ge \frac{u(I^-)}{u(E)}.$$
(4.10)

Define  $\phi(t) := t \log(e + t)$ . Then

$$\phi\left(\frac{1}{\lambda_h}\right) \geqslant \frac{u(I^-)}{u(E)};$$

hence

$$\frac{1}{\lambda_h} \ge \phi^{-1} \left( \frac{u(I^-)}{u(E)} \right).$$

Since  $\phi^{-1}(t) \approx t/\log(e+t)$  for large t, we have

$$\lambda_h \leqslant C \frac{u(E)}{u(I^-)} \log\left(e + \frac{u(I^-)}{u(E)}\right)$$

and taking supremum in h > 0 we get the claim by applying Claim 4.14 to  $f = \chi_E$ . This shows Claim 4.15.

Now, if  $B(t) := t \log(e + 1/t)$ , then we obtain from Claims 4.12, 4.13 and 4.15 that

$$B\left(\frac{|E|}{|I|}\right) \leqslant C\left[B\left(\frac{u(E)}{u(I^{-})}\right)\right]^{1/p}.$$
(4.11)

The rest of the proof is exactly the same as that in [6]. In fact, since

$$B^{-1}(B(t)^p) \sim t^p \log^{p-1}\left(e + \frac{1}{t}\right), \quad 0 < t < 1,$$

from (4.11)

$$\left(\frac{|E|}{|I|}\right)^p \log^{p-1}\left(\mathbf{e} + \frac{|I|}{|E|}\right) \leqslant C \frac{u(E)}{u(I^-)},$$

and we obtain the assertion of the proposition.

Finally, combining Theorem 4.8 and Proposition 4.11, we get the (sufficiency part of the) following result of Sawyer.

**Corollary 4.16.** Let u be a weight on  $\mathbb{R}$  and let  $1 . Then <math>M^+$  is bounded on  $L^p_u$  if and only if there exists C > 0 such that

$$\int_{I^{-}} u \left( \int_{I^{+}} u^{-1/(p-1)} \right)^{p-1} \leqslant C |I|^{p}$$

for all intervals  $I, I^-$  and  $I^+$ .

### 5. An application to variable-exponent Lebesgue spaces

In this final section, we shall present applications of Theorem 3.5 to variable-exponent Lebesgue spaces.

Let  $p: \mathbb{R} \to [1, \infty)$  be a measurable function. We denote by  $L^{p(\cdot)}(\mathbb{R})$  the space of all measurable functions f on  $\mathbb{R}$  such that, for some  $\lambda > 0$ ,

$$\int_{\mathbb{R}} \left| \frac{f(x)}{\lambda} \right|^{p(x)} \mathrm{d}x < \infty,$$

endowed with the norm

$$\|f\|_{L^{p(\cdot)}(\mathbb{R})} = \inf \left\{ \lambda > 0 \colon \int_{\mathbb{R}} \left| \frac{f(x)}{\lambda} \right|^{p(x)} \mathrm{d}x \leqslant 1 \right\}.$$

The space  $L^{p(\cdot)}(\mathbb{R})$  is a particular instance of the so-called Musiełak–Orlicz space [9].

We denote by  $\mathcal{P}^+(\mathbb{R})$  the class of all measurable functions  $p: \mathbb{R} \to [1, \infty)$ , for which  $M^+$  is bounded on  $L^{p(\cdot)}(\mathbb{R})$ . We further denote by  $\mathcal{B}$  the set of all measurable functions  $p: \mathbb{R} \to [1, \infty)$  such that

$$1 < p_{-} := \operatorname{ess\,inf}\{p(x); \ x \in \mathbb{R}\} \leq \operatorname{ess\,sup}\{p(x); \ x \in \mathbb{R}\} =: p_{+} < \infty.$$

It has been proved in [3] that if p satisfies the following uniform continuity condition

$$p(x) - p(y) \leqslant \frac{K}{-\log(|x - y|)} \tag{5.1}$$

for  $x, y \in \mathbb{R}$ ,  $0 < y - x \leq \frac{1}{2}$  and if p is constant outside some large interval, then  $p \in \mathcal{P}^+(\mathbb{R})$ . Their condition thus contains two separate requirements (a control over the local behaviour and constancy near infinity). Recently, Nekvinda [11, Theorem 1] improved this result by finding certain finer conditions at  $\infty$ , still sufficient for the boundedness of the one-sided maximal operator. Precisely, he proved that if p satisfies (5.1) and there exists a non-increasing function  $q \in \mathcal{B}(\mathbb{R})$  and a constant c > 0 such that

$$\int_{\{x: |p(x)-q(x)| \neq 0\}} c^{1/(|p(x)-q(x)|)} \, \mathrm{d}x < \infty, \tag{5.2}$$

then, again,  $M^+$  is bounded on  $L^{p(\cdot)}(\mathbb{R})$ .

We will give an alternative proof of the Nekvinda's Theorem, based on Theorem 3.5. This step is done in the spirit of [6].

**Theorem 5.1.** Let p be a bounded positive function with  $p_- > 0$ , satisfying (5.1) and (5.2). Then

$$\|m_{\lambda}^{+}f\|_{L^{p(\cdot)}(\mathbb{R})} \leqslant \frac{C}{\lambda^{1/p_{-}}} \|f\|_{L^{p(\cdot)}(\mathbb{R})}, \quad 0 < \lambda < 1,$$

where C depends on p.

In the case when  $p_{-} > 1$  the conditions of Theorem 5.1 coincide with those of [11, Theorem 1]. In this case, Theorem 5.1 clearly yields

$$\alpha_{L^{p(\cdot)}}^+ \leqslant \frac{1}{p_-} < 1$$

and thus, by Theorem 3.5, the boundedness of  $M^+$  on  $L^{p(\cdot)}(\mathbb{R})$ .

**Proof of Theorem 5.1.** The statement of the theorem is equivalent to saying that there exists a constant C > 0, independent of f and  $\lambda$ , such that

$$\int_{\mathbb{R}} (\lambda^{1/p_{-}} m_{\lambda}^{+} f(x))^{p(x)} \, \mathrm{d}x \leqslant C$$
(5.3)

whenever

$$\int_{\mathbb{R}} |f(x)|^{p(x)} \, \mathrm{d}x \leqslant 1$$

We fix a function f and set

$$f_1 = f\chi_{\{|f| \ge 1\}}$$
 and  $f_2 = f - f_1$ .

Let us show that, for any x,

$$(\lambda^{1/p} - m_{\lambda/2}^+ f_1(x))^{p(x)} \leqslant C \lambda m_{\lambda/2}^+ (f_1^{p(\cdot)})(x),$$
(5.4)

$$(\lambda^{1/p_{-}}m_{\lambda/2}^{+}f_{2}(x))^{p(x)} \leqslant C(\psi(x) + \lambda m_{\lambda/4}^{+}(f_{2}^{p(\cdot)})(x)),$$
(5.5)

with some  $\psi \in L^1$ , where C and  $\|\psi\|_{L^1}$  depend on p.

Assume, for the time being, that (5.4) and (5.5) are satisfied. We note that these estimates easily imply (5.3). Indeed, since (2.11) implies

$$\|m_{\lambda}^{+}f\|_{L^{1}} = \frac{1}{\lambda}\|f\|_{L^{1}}, \qquad (5.6)$$

and, next,

$$\int_{\mathbb{R}} |f(x)|^{p(x)} \, \mathrm{d}x \leqslant 1,$$

we conclude that (5.6) shows that the  $L^1$ -norms of the right-hand sides of (5.4) and (5.5) are bounded by constants depending only on p. Observing also that, by (2.4),

$$(\lambda^{1/p_{-}}m_{\lambda}^{+}f(x))^{p(x)} \leq 2^{p_{+}-1}((\lambda^{1/p_{-}}m_{\lambda/2}^{+}f_{1}(x))^{p(x)} + (\lambda^{1/p_{-}}m_{\lambda/2}^{+}f_{2}(x))^{p(x)}),$$

we obtain that (5.4) and (5.5) imply (5.3). To prove (5.4), fix arbitrary x and h > 0. We claim that

$$F(x,h) := [\lambda^{1/p_{-}} (f_1 \chi_{(x,x+h)})^* (\frac{1}{2}\lambda h)]^{p(x)-p_{-}(x,x+h)} \leqslant C,$$
(5.7)

where we define  $p_{-}(x, x+h) := \inf_{y \in (x, x+h)} p(y)$ .

For  $h > \frac{1}{2}$ , we get, using the Chebyshev inequality,

$$\lambda^{1/p_{-}}(f_{1}\chi_{(x,x+h)})^{*}\left(\frac{\lambda h}{2}\right) \leqslant \left(\frac{2}{h}\right)^{1/p_{-}} \|f_{1}\|_{p_{-}}$$
$$\leqslant \left(\frac{2}{h}\right)^{1/p_{-}} \left(\int_{\mathbb{R}} |f_{1}(x)|^{p(x)} dx\right)^{1/p_{-}}$$
$$\leqslant \left(\frac{2}{h}\right)^{1/p_{-}},$$

whence  $F(x,h) \leqslant 4^{(p_+-p_-)/p_-}$ , while, if  $h \leqslant \frac{1}{2}$ , by (5.1) we get

$$\begin{split} F(x,h) &\leqslant \left(\frac{2}{h}\right)^{(p(x)-p_-(x,x+h))/p_-} \\ &\leqslant \left(\frac{2}{h}\right)^{K/(-p_-\log h)} \\ &= 2^{K/(p_-\log 1/h)} \left(\frac{1}{h}\right)^{K/(p_-\log 1/h)} \\ &\leqslant 2^{K/(p_-\log 2)} \left(\frac{1}{h}\right)^{K/(p_-\log 1/h)} \\ &= 2^{\log_2 \exp(K/p_-)} \left(\frac{1}{h}\right)^{\log_{1/h} \exp(K/p_-)} \\ &= \exp\left(\frac{2K}{p_-}\right), \end{split}$$

which shows (5.7). Now, (5.7) combined with (2.3) yields

$$\begin{split} \left(\lambda^{1/p_-}(f_1\chi_{[x,x+h)})^*\left(\frac{\lambda h}{2}\right)\right)^{p(x)} &\leqslant C\left(\lambda^{1/p_-}(f_1\chi_{[x,x+h)})^*\left(\frac{\lambda h}{2}\right)\right)^{p_-(x,x+h)} \\ &= C\lambda^{p_-(x,x+h)/p_-}(f_1^{p_-(x,x+h)}\chi_{[x,x+h)})^*\left(\frac{\lambda h}{2}\right) \\ &\leqslant C\lambda m_{\lambda/2}^+(f_1^{p(\cdot)})(x), \end{split}$$

and (5.4) follows.

To prove (5.5), we apply [6, Lemma 5.5] together with (2.3) and (2.4), which yields

$$\begin{aligned} (\lambda^{1/p_{-}}m_{\lambda/2}^{+}f_{2}(x))^{p(x)} \\ &\leqslant \alpha^{1/(|p(x)-q(x)|)} + \left(\left(\frac{1}{\alpha}\right)^{1/p_{-}} + 1\right)(\lambda^{1/p_{-}}m_{\lambda/2}^{+}f_{2}(x))^{q(x)} \\ &\leqslant \alpha^{1/(|p(x)-q(x)|)} + \left(\left(\frac{1}{\alpha}\right)^{1/p_{-}} + 1\right)(\lambda^{q(x)/p_{-}}m_{\lambda/2}^{+}(f_{2}^{q(\cdot)})(x)) \end{aligned}$$

The one-sided  $A_p$  conditions and local maximal operator

$$\leq \alpha^{1/(|p(x)-q(x)|)} + \left(\left(\frac{1}{\alpha}\right)^{1/p_{-}} + 1\right) (\lambda^{q(x)/p_{-}} m_{\lambda/4}^{+} (\alpha^{1/(|p(x)-q(x)|)})(x)) + \lambda^{q(x)/p_{-}} \left(\left(\frac{1}{\alpha}\right)^{1/p_{-}} + 1\right) m_{\lambda/4}^{+} (|f_{2}|^{p(\cdot)})(x).$$

By (5.2) and the monotonicity of q, we get  $q(x) > p_{-}$ . Thus,

$$\begin{aligned} (\lambda^{1/p_{-}}m_{\lambda/2}^{+}f_{2}(x))^{p(x)} &\leqslant \alpha^{1/(|p(x)-q(x)|)} + \left(\left(\frac{1}{\alpha}\right)^{1/p_{-}} + 1\right)\lambda m_{\lambda/4}^{+}(\alpha^{1/(|p(x)-q(x)|)})(x) \\ &+ \lambda \left(\left(\frac{1}{\alpha}\right)^{1/p_{-}} + 1\right)m_{\lambda/4}^{+}(|f_{2}|^{p(\cdot)})(x), \end{aligned}$$

and (5.5) follows with

$$\psi(x) = \alpha^{1/(|p(x)-q(x)|)} + \lambda \left( \left(\frac{1}{\alpha}\right)^{1/p_{-}} + 1 \right) m_{\lambda/4}^{+} (\alpha^{1/(|p(x)-q(x)|)})(x),$$

by (5.6) and (5.2). It is clear that  $\|\psi\|_{L^1}$  depends only on p.

The proof of the theorem is complete.

Acknowledgements. The research of L.P. was partly supported by Grants 201/05/2033, 201/07/0388 and 201/08/0383 of the Grant Agency of the Czech Republic and by Grant MSM 0021620839 of the Czech Ministry of Education. The research of A.G. was partly supported by Grant 201/08/0383 of the Grant Agency of the Czech Republic and by the Institutional Research Plan AV0Z10190503 of the Academy of Sciences of the Czech Republic. The research of A.L.B, F.J.M.-R. and P.O.S. was partly supported by the Spanish Government (Ministerio de Ciencia y Tecnología Grants MTM05-8350-C03-02 and MTM2008-06621-C02-02) and Junta de Andalucía Grants (FQM-354 and FQM-01509). The research of A.L.B. was also partly supported by CAI+D-UNL, CONICET (Argentina). We thank the referee for critical reading of the paper and many very helpful comments.

#### References

- C. BENNETT AND R. SHARPLEY, *Interpolation of operators*, Pure and Applied Mathematics, Volume 1299 (Academic Press, Boston, MA, 1988).
- A. L. BERNARDIS AND M. LORENTE, Sharp two weight inequalities for commutators of Riemann-Liouville and Weyl fractional integral operators, *Integ. Eqns Operat. Theory* 61(4) (2008), 449-475.
- 3. D. E. EDMUNDS, V. KOKILASHVILI AND A. MESKHI, On one-sided operators in variable exponent Lebesgue spaces, *Proc. A. Razmadze Math. Inst.* **144** (2007), 126–131.
- 4. E. HEWITT AND K. STROMBERG, *Real and abstract analysis*, Graduate Texts in Mathematics, Volume 25 (Springer, 1965).
- 5. N. J. KALTON, N. T. PECK AND J. W. ROBERTS, An F-space sampler, London Mathematical Society Lecture Notes Series, Volume 89 (Cambridge University Press, 1984).

- 6. A. K. LERNER AND C. PÉREZ, A new characterization of the Muckenhoupt  $A_p$  weights through an extension of the Lorentz–Shimogaki Theorem, *Indiana Univ. Math. J.* **56**(6) (2007), 2697–2722.
- F. J. MARTÍN-REYES, New proofs of weighted inequalities for the one-sided Hardy– Littlewood maximal functions, Proc. Am. Math. Soc. 117 (1993), 691–698.
- 8. B. MUCKENHOUPT, Weighted norm inequalities for the Hardy maximal function, *Trans. Am. Math. Soc.* **165** (1972), 31–38.
- J. MUSIEŁAK, Orlicz spaces and modular spaces, Lecture Notes in Mathematics, Volume 1034 (Springer, 1983).
- 10. A. NEKVINDA, Hardy–Littlewood maximal operator in  $L^{p(x)}(\mathbb{R})$ , Math. Inequal. Applic. 7 (2004), 255–265.
- 11. A. NEKVINDA, A note on one-sided maximal operator in  $L^{p(\cdot)}(\mathbb{R})$ , Math. Inequal. Appl. **13**(4) (2010), 887–897.
- P. ORTEGA SALVADOR, Weighted inequalities for one-sided maximal functions in Orlicz spaces, *Studia Math.* 131 (1998), 101–114.
- E. SAWYER, Weighted inequalities for the one-sided Hardy–Littlewood maximal functions, Trans. Am. Math. Soc. 297 (1986), 53–61.
- 14. E. M. STEIN, Note on the class  $L(\log L)$ , Studia Math. **32** (1969), 305–310.